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(DEAFBERARR ; QBKERERE CVEBBY 58S (=W ETHE/RBY 158088 5 (S)fmeflse
BT ER - '

= THIRGRAEBI ? (5 4) a
 OREHZBEERIR 30" MBI LRR ko 4555 0.5 (0)36543 3508 S Rl T

& 800% ; (3)FLBREL(void ratio) 0.8 AR TN 2 (ORBEKBITIEEERI S 1MPa 2 55+ 5
REREERE L (DB LRI 54955 0.002mm -
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P LERCEHIES = MIEST - FLUKEES - AR SR 54 :'
(D RFEEFD QFURK B & e e ORI B raET: (DBt 1
RIS 7K ST AT AR © (5) RS -

A - R GHY/NG - 5/0NE 10 43 - 3 40 43)
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— ~ faI5E Skempton FLMA/KEES B A & B ? (1043

= RSN E A i%ﬁif%‘mﬁ‘ﬁiigﬁk%%ﬁﬁ(l)@Uﬁﬂﬂ@ﬁﬁ%ﬁ?iﬂﬁﬁ%ﬁ ORI R i 8
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#F 2m > B T kR A I - B R KRR A 3 -

(DB FIEH B 2(2)$218) 2(b) A5 Sm B TIIEST - (10 43)
HE 2 LRI EF TR S AR - TR EREEESE 02 (54)

~ BRI - (BEEESR M + 1) » ETBETERRE  #EEaT :
(1) B2 | BREFE S5 75kPa - TR & B2 M8 1765 100kPa » TSI 2 LR KBRS, 25kPa
(2) RS 2 BEFE /155 150kPa - RBSRIRE & B2 E 78S 200kPa » BRESIR  FLIRK IR RS S0kPa
RS BIE B RE e e BFESIBEESS - (15 4) '
(sind5°=0.7, 5in37° =0.6, sin30° =0.5, 5in24° =0.4, sin18 " =0.3, sin12 ° =0.2)
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